K EEL B3 AmsS Sh (VBIA) Ak

L% s BB % 0 HHE L L) AT S
% 7K§\ /77% mléf\\ 2 1 /\‘,:(ch‘(z)’xb(bl)
AR
Ry E‘:k \M;% ?\F%m K E Iy 308 9n B ¥
B~ Eerr Y=o Ka()X) + Ca Xa) X (1)
NS = P> R T 2y
H= -2 (orra) E- SV BYanan
2771 2 —*\~\__
o ok B ke [ VY divdli
4ito\ Fai R TFy Fp T T. ?2") / -
ﬁ /\@éﬁ Pg;ﬂ %@q(r)ﬁ \{/W%V1(9£V2

= pu . T
B3A® 42555 (VB3z) Gt /7(/0)]21)&;@)(&(1)2%)01/%06(/2

- o 1
@xa m V= GO, Xa2)x(1) *+G,

2 oE /_,. “"‘\\
/ L) Ks(1) Zal)X b1 )Y,
BB (Mosk)
) 3 =
//'// < +2.C’(/1 //,— s K é/\ :
@ N == r ‘2// \0‘1 ) X (2 j",_;'), (2) ,
C\/\ ) /L ¥ {C‘I %0(1)+Cz Xb“)} )'571};{2(2)+C1 kb{”? ); M‘“’{\\Udl\)d V
L B I
*& ],é\g//f@ ’%%/E\?Sk ¢ o C1 +C12+ 2C1C252
X Xy E

KE B3 0 47 P 13
IRV S N R fl U 384 Rl

L 2
@ @ N7 Kl )X )



*® FRASAC
[yt dugdis = Cf+ 02 +20,Gs?
= 207 (1+s8?)

[ VRV o

- /xau)x¢a>ﬂ’x<w¥w(4%@é

=1
Haa
ey L3 E
T2G G [T, X{o) 0 Xa@) Xp(1) Mol = J;% (%a(i)?(é@ﬁ Xa(l)*’?@b(l)}
’\\ﬁ;s E = HaarHap ‘
=(Cree,2) Hag + 2.Cyca Ha b 3
& kL 5. 43 2 J:z (7(&(1)?@ (2)- %(2)?@(1)}
%i gg -0 D {(Q‘Ci“LzClSl)E:QQHGQTZCHA £ = ?iagiw
. ( 2Gtacsr)E= 50, Habt2C; Hag





